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Consider ¢he inAe,oanAen‘c events:

Spinming & <oin ¢ H,TE amd  Rollig a die§1,2,3,4,667F

Possil le ecbuc-”ul 'ikel3 ovteomes
Rl Ha HY R4 HE HC, TI T2, T3, T¢,7¢, T4
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Ex2
A bA:S contains 4 red 54“() Sblve balls and Zﬁ/ccn balls, A ball

{S CLoSe.n at random and T ES coalovr hoted, T& /y then wqalac.c‘«(
w Ehe 643 and o Second hall 1y cheten and ity colouwr noted,
er{esm'(‘ Ehiy ¢ttoabiom v €l o (Jrolaukihfj tree a-A caleclober
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The )oraba\k.'li{'j a N‘\Skinj machine bredks down [n Ehe

£iret 4 ear s 0.1 and Ehe proh(u'lrh] a gri‘ljc L reatcs dovwn 15 O 2.
Show  ELI nbormabion om a Prob‘..L.'l‘H:\_.l bree cmd calevlabe
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1) P(Nether Brewes) = Plox,ox) = a-72
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A 543 has 4 reJ, 3blve gad L g reen halls. K ball 1¢ cloten ot
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Cavdom ts colesr moted BuT 1T 1§ MeT REPLACEN,

Ak seecondd ball is chocen and (¢ colovs noted, ﬂc/fcsea? Ehes
Sibvabion with o probalilidy €Evee and calevletber

1) Prob (hoth Same colovr)

5;> Peol (a{— leatt cne qgreen i L‘\osch)
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